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(Write your Roll No. on the top immediately on rec‘ez;u.rrof this question paper.)
Question No. 1 is compulsory.
Attempt any 5 of Question Nos. 2 to 8.
All parts of a question must be answered together.
Due credit will be given to the structure and documentation
of the code. For every program/function )./ou must

include as eomments the following :
Objective :
inputs/input parameters :

outputs/output parameters :
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For each of the following, indicate whether it is a valid

Python keyword. _ 2
; s

() class

(ii) not =

(iif) if 2

_(iv) exec

How does the effect of the following two statements L

differ ? ; : 2t
{8 = a=3
(iffra? ="a ~#-3

Give the output that will be produced on execution of

the following code segment : 2
: : ~

51 = ‘"learning python  ‘is FUN!!

s2 = sl.capitalize()

83 = gl titlet)

printI(SZ)

print (s3)
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Write arpython function searchKey(lst, k) for

searching an item k in the list 1st of n integers using

binary search. The function should return the index of

the item k, if k is present in the list, otherwise, it should

~return -1 ‘ 6

Translate each of the following mathematical expressions

into an equivalént Python expressions : 4
LR G SR S
(i) z(6+3z) + . x(5-x)/y
Identify error(s), if any, in the following code segment : 2

def. test(a, )

all] e T
Lo 6 s SR
x - ‘this'
IR R oSS SRR )

test (x, y)

printi{x, y)

'test(x, yl:1)

print (x, y)

@

(e)
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Consider a queue q. W;lrite a Python function
display () Vthat displz;ys content of queue g if queue
is not empty, otherwise, it dispigys the messagé “Queue
is Empty”. 2
Identify error(s), if any, in the following code segment : 2
slv=i "L am & Strxingh
sl _éll = “rot"

prine('Srring o gls g e i 81

" Give the output that will be produced on execution of

the following code segment : _ : 3
B om0
m = {4
fof .8 in range(f, 0, -1}
o R i S 3
print (p)

P.TO.
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Give the output that will be produced on execution of

the following code segment :
W= D .
def sum(nl, n2):

et T o W R SR o

Eraintiite inside sum: st v)
print ("v before sum:"{ v)
sum(7, 3)

print{"v . .after . sum:", v)
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3

Write a Python function factors (x) that takes an

integer value x and find factors of x.

Give the output that will be produced on execution of

the following code segment :

4

5

Aistl o= [1:32,2.45, 6.13, 3,65, 8.42, 5.26]

listl.remove (6.13)

érint(listl)

print (listl.index (3.65)) ;
listl.insert (3,9.24)
print(listl)

print (listl.pop())

print{listl[l:4:2]
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Define a class Item that keeps record of items available in
a shop. The class contains two data members name and
quantity that stores name and available quantity of an item

in the shop. Define the constructor for this class to create

_ an object with given name and quantity. Define methods

update and display. The method update modifies the
available quantity of the item. It the item is purchased, quantity
is increased by the number of units purchased and if item
is sold, quantity is decreased by the number of units sold.
The method display prints the item information. 10
(@) Define a function insertionSort (listl) which
accepts a list 1istl as an input argumq;.nt and sorts
the list using insertion sort. 6
(b)  Illustrate the operation of the insertionSort
(listl) function defined in part'(a) on the following
list by showing how the list would appear at the end
of each itera.tion : 4
[24, 350065 185 825 49

P.T.O.
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(b)) Give the output that will be produced on execution of

the following code segment : 4
R S 0k TR
1l.append('0")

print.(l1)

-priht(ll.pop(l))

del 11[1}]

print (11)

(¢) = Give the output that will be produced on execution of

the following code segment : . : 4
a = 16 # 16 in binary: 0001 0000
b oet B # 8 in binary: 0000 1000
d=—="da- > b

print(a, b)
Bete—ohoakk 3
print (&, b)
a = -~b
print{a, b)

CIEEE G e o

print (a, b)

P.T.O.
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Consider a stack s of integers that is initially empty.
Perform the following operations in sequence on the
stack s and show the modified stack s (using a

diagraln) aﬁer each of the following operations : 5
() push 18

(#) pop

(iif) push "?

(iv) push 5

() pop.

Evaluate the following expressioﬁs : 5
H 2 : R * K 3

() not 10 == 8 ~and 6+3 1= 9
Gl 6 %% Rl R % 3

(W) *1istt 5 i 'lige’

e R S e

Write a Python program that takes a positive integer

n (n < 9) as input from the user and produces



®
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an n lines pattern as output. For example, when 5 is
entered as the value of n, the output will be as follows : 5
85555
4444
333

22

Give the output that will be produced on execution of

the following code segment : 5
strl= 'We are learning _python'-

print (strl.split())

print (strl.capitalize())

priatistel,coimbfin'}))
print (strl.swapcase())-

print{strl.title(}))

P.TO.
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Write a Python function checkVowel (ch) that accepts
a character argument ch. fhe function checkVowel
checks whether character ch is a vowel. The function
checkVowel returns true if given character ch is a

vowel, otherwise returns false. 5

Write a segment of the Python code to find the sum

of the n terms of the series given below. The input

n is to be entered by the user at run time. 5

1-2+3-4+4+5-6+..+n

10 500



